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1. What is meant by cold War?

Answer: Cold War is a state of extreme unfriendliness existing between two
superpowers especially with opposing political system which expresses itself
not through fighting but through political pressures and threats.

2. “Non-alignment does not imply neutrality or equidistance.” What
does this statement mean?

Answer: Neutrality refers to a policy of staying out of war and not to help

end a war. Non-aligned states including India worked to prevent wars and

rivalries between others.

3. What was deterrence relationship between superpowers?

Answer: Deterrence relationship refers that both sides have the capacity to
retaliate against an attack and to cause so much destruction that neither can
afford to initiate war.

4. How did superpowers maintain arms- control?

Answer: Superpowers maintained arms control by signing significant
agreements within a decade as Limited Test Ban Treaty, Nuclear Non-
proliferation Treaty, Anti- Ballistic Missile Treaty and hold several rounds of
arms limitation talks.

5. What do you understand by Least Developed Countries?

Answer: Majority of NAM members were categorised as Least Developed
Countries (LDCs) to be more developed economically and to lift their people
out of poverty.

6. What was the difference in the ideology of Western Alliances and
that of Eastern Alliances?

Answer: The Western Alliance headed by the US represented ideology of
liberal democracy and capitalism while the eastern alliance headed
by Soviet Union committed to socialism and communism.

7. What was India’s policy of Non-alignment?



Answer: India’s policy of Non-alignment was not a policy of‘fleeing away’
instead India was in favour of actively intervening in world affairs to soften
Cold War rivalries and prevented differences from escalating into a full scale
war.



